A dJ u S t m e n tS Before installing this product, check the contents

of the kit. If anything is missing, please contact an

A\ Warning! ( @ h Ohlins dealer.
Before driving, always make sure that the
basic settings made by Ohlins are according
to recommended Set-up Data. Read about Re_bound o
adjustments and setting up in the Ohlins adjuster Kit Contents p
Owner's Manual before you make any % % Shock absorber ZS'
adjustments. Contact an Ohlins dealer if you \ \ J
have any questions about setting up the shock Dust boot 2
absorber. ;0'). mount g
pring
=2 Self lock nut M10 2

The standard preload is 2 mm from a free
length of 200 mm, giving 198 mm installed © MOUNTED ON SHOCK ABSORBER
length, see fig @. @ Adjuster 2
Set _ u p D at a — USED FOR BOTH FRONT AND REAR

. = C-spanner 1
Recommended set-up Sprllngd C-spanner 1
Rebound 10 clicks Z(rfuc;?er Ohlins sticker 1
Spring preload 2 mm ! x Ohlins Owner's Manual 1
Shock absorber length 508 mm © L0
Spring (e}
Spec H200, ID65, 80N/mm

. . i | Please note that during storage and
The actual vehicle height _ / transportation, especially at high ambient
With both the preload and height adjustments Height temperature, some of the oil and grease used for
in their standar(_j positions, the vehicle is adjuster assembling may leak and stain the packaging.
lowered approximately 35 mm when compared This is in no way detrimental to the product, wipe
to the original suspension. As the height @ off the excess oil/grease with a cloth.
adjuster is turned one rotation, the position DR,
moves 1.5 mm. Bracket =
—= A\ Warning!
A\ Warning! j Before installing this product, read the Ohlins
The adjustment range is the standard position Owner's Manual. The shock absorber is an
+15 mm. If the bracket is moved outside the i i important part of your vehicle and will affect the
adjustment range, it may come loose. stability.
A J
& Ohlins products are subject to To find the latest information contact @1|F‘;é-}? : Shock Absorber Kit for Mazda RX-8 (S E3 P)

continuous improvement and your Ohlins distributor. Please

: \ AT
development, therefore, although consult your Ohfins dealer if you @ A @ 5
these instructions include the most have any questions regarding the oot o csﬂ,,;\o‘f/"
up-to-date information available at contents in this document. R e f r O n t

the time of printing, minor updates

Part no. MASMI00_0
may occur. i . a
Y lssued 2000-05-05 Mounting Instructions
© Ohlins Racing AB. All rights Ohlins Racing AB

reserved. Any reprinting or
unauthorized use without the written
permission of Ohlins Racing AB

' e ADVANCED SUSPENSION TECHNOLOGY ADVANCED SUSPENSION TECHNOLOGY
is prohibited.

www ohlins com




How to install

A\ Warning!

It is advisable to have an Ohlins dealer install
the shock absorber.

When installing, read your Vehicle Service
Manual.

VEHICLE
SERVICE
MAMLUIAL

Raise the vehicle and put it on jack stands.

4\ Warning!

Ensure that it is securely supported.

2

Remove the front wheels.

3

Remove the lower and the upper attachments
and remove the original shock absorbers.

4

Tighten the lower spring seat and the lock nut
to 50 - 60 Nm.

Fit the bushing spacers, the dust boot, the
spring, the top mount and the adjuster
according to fig ®. Tighten the self lock nut
to 30 Nm.

<® Note!

When tightening the top mount nut, the
shock absorber shaft must be held in position
with a 4 mm Allen key.

5

Install the Ohlins shock absorbers on the
vehicle.

6

Fasten the upper attachments.

<® Note!

Make sure that all bolts are tightened to the
correct torque and that nothing fouls or
restricts movement of the shock absorber
when it is being fully compressed or
extended.

/7 @ N
Adjuster
Self lock nut M10
Bearing spacer
S
| j
|
B g
| | %
Top mount
| il
Shock Bearing spacer z
absorber — ;
Q;
Lower é
spring seat <5
/‘5
%5
Lock nut ]
— ==
LUl %%\ ] é%
Lock nut Spring
Bracket @
% %
i f Dust
fffffff boot
\_ J

7
Make sure that all removed parts are
reinstalled in the same way as they were
before the installation of the Ohlins shock
absorber.

How to install




Adjustments

A\ Warning!

Before driving, always make sure that the
basic settings made by Ohlins are according to
recommended Set-up Data. Read about
adjustments and setting up in the Ohlins
Owner's Manual before you make any
adjustments. Contact an Ohlins dealer if you
have any questions about setting up the shock
absorber.

The standard preload is 2 mm from a free length
of 200 mm, giving 198 mm installed length, see

fig ®.

Set-up Data

Recommended set-up
Rebound 10 clicks
Spring preload 2mm
Shock absorber length 320 mm
Spring
Spec H200, ID70_100, 40 N/mm

The actual vehicle height

With both the preload and height adjustments in
their standard positions, the vehicle is lowered
approximately 35 mm when compared to the
original suspension. As the height adjuster is
turned one rotation, the position moves 1.5 mm.

A\ Warning!

The adjustment range is the standard position
-15 to +10 mm. If the bracket is moved outside
the adjustment range, it may come loose.

> Ohlins products are subject to
continuous improvement and
development, therefore, although
these instructions include the most
up-to-date information available at
the time of printing, minor updates
may Gecur.

© Ohlins Racing AB. All rights
reserved. Any reprinting or
unauthorized use without the written
permission of Ohlins Racing AB

is prohibited.

Before installing this product, check the contents
of the kit. If anything is missing, please contact an

- ~ Ohlins dealer.
Rebound
adjuster = Kit Contents Pcs.
N Shock absorber 2
Spring 2
Standard Washer 5
top mount Screw M4 2
Control wire 2
Adjustment knob 2
e e, Nylon nut M10 2
Grommet 2
Standard gllljzﬂilgeys acer }1
dust boot gsp
MOUNTED ON SHOCK ABSORBER
A Warning! Adjuster 2
Never USED FOR BOTH FRONT AND REAR
loosen the C-spanner 1
locknut. If it C-spanner 1
is removed, Onhlins sticker 1
bottoming g Ohlins Owner's Manual 1
can occur. ~
o Please note that during storage and
& transportation, especially at high ambient
Spring preload temperature, some of the oil and grease used for
adjuster assembling may leak and stain the packaging.
This is in no way detrimental to the product, wipe
. off the excess oil/grease with a cloth.
Height
adjuster A\ Warning!
< -
© Before installing this product, read the Ohlins
Bracket Owner's Manual. The shock absorber is an
important part of your vehicle and will affect the
\_ Y, stability.

To find the latest information contact
your Ohlins distributor. Please
consult your Ohiins dealer if you
have any questions regarding the
contents in this document.

Part no. MASMI00_0
Issued 2008-05-05

Ohlins Racing AB

Shock Absorber Kit for Mazda RX-8 (SE3P)

@ MAS MIOO rear

Mounting Instructions

i
A R
7 {f’ 4

ADVANCED SUSPENSION TECHNOLOGY

OHLINS

ADVANCED SUSPENSION TECHNOLOGY

www ohlins com



2\ Warning!

It is advisable to have an Ohlins dealer install
the shock absorber.

When installing, read your Vehicle Service
Manual.

VEHICLE
SERVICE
MAMLUIAL

Be

Raise the vehicle and put it on jack stands.

A\ Warning!

Ensure that it is securely supported.

2

Remove the rear wheels.

3

Remove the lower and the upper attachments
and remove the original shock absorbers.

4

Tighten the lower spring seat and the lock nut
to 50 - 60 Nm.

Fit the bushing spacers, the dust boot, the
spring, the top mount and the adjuster
according to fig ®. Tighten the nylon nut to
20 Nm.

@ Note!

When tightening the top mount nut, the
shock absorber shaft must be held in position
with a 4 mm Allen key.

5

Install the Ohlins shock absorbers on the
vehicle.

6

Do the installation work of the control wire
according to the following procedures.

1. Pass the control wire from the trunk room
according to fig ®,®.

2. Install the control wire in the adjuster
according to fig ®.

3. Install the Ohlins shock absorbers on the
vehicle, and support the shock absorber at the
position according to fig @.

4. Install the adjuster in the shock absorber.

5. Fasten the lower attachment.

6. Lift the shock absorber, and fasten the upper
attachment.

7. Install the adjustment knob on the control
wire after passing the control wire through th
grommet according to fig ®.

@ Note!

When installing the control wire, a second
person is necessary to help with supporting the
shock absorber in the position of fig @.

@ Note!

Make sure that all bolts are tightened to the
correct torque and that nothing fouls or
restricts movement of the shock absorber
when it is being fully compressed or
extended.

( N
@ Screw M4
Adjustment an
X 4
Grommet —————Em
Control wire W
Adjuster
Nylon nut M10
Std washer \E%
0
Standard rubber ———; — —
O . ——
Standard
top mount
Shock
absorber Sﬁ/ Standard
G-\ dust boot
Standard
. = __ spacer
Lock nut N —
E% Standard
_
Lower o= = rubber
spring seaty—— g> o
—
Lock nut <2
— i
Bracket ———— Spring
I gli Washer
<@ Note!
Bushing spacer
Press-fit the spacers into
the bushing.
~ J

7

Make sure that all removed parts are
reinstalled in the same way as they were
before the installation of the Ohlins shock
absorber.

s N
(2) Leftside of vehicle body Control wire
’
) Y 0
@@v
N = ~— J
T
Pass the control wire
/% Control wire
\
)i %\ Install
Adjuster

Control wire

@ Support the shock absorber at this position

~
@ Right side of vehicle body inside trunk room

-

Rear sneaker|
I
Inner panel g?gﬁ
/
4
Make a ¢ 12

Fastener hole

hole here.

\\\_ e




